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(X4th $m.)-Geography- GIGEICC-4)/CBCS

2022

GEOGRAPHY — GENERAL
Paper : GE/CC-4
(Cartography)

Full Marks : 50

Candidates are required to give their answers in their own words
as far as practicable.
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[ English Version ]
The figures in the margin indicate full marks.
Category - A
Answer any five questions (each within 50 words). 25
1. What is statement scale?
2. If the Cartesian coordinates of a point P (9m, 16m) calculate the polar coordinates of P.
3. If whole circle bearing of a line AB is 195°32'36". Calculate the R.B. (Reduced Bearing) of the line.

4. RF. of map is 1 : 5,50,000. From this map length of a National Highway has been measured tolbe
30 ¢m. Determine actual length in km.

5. Mention the names of map projections which suitably represent the map of Europe and Antarctika
continents.

6. State the use of prism in prismatic compass.
7. What is Collimation Line (C.L.)?

8. If the Reduced Level (RL) is 6.500m and Staff Reading of a particular point is 1.155m, what will be
the height of Collimation Line (CL) of that point? B
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Category - B
Answer any four questions (each within 150 words). oEe

Category - C :

Answer any two questions (each within 500 words).




